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The Standard Method A-IRB Method

And when credit institutions use the A-IRB method, the average risk weight is 15%.
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That compromises the link between risk and capital because the
increase in capital does not reflect an increase in risk.

9/24/2020 eld e 2 10



4 . YW Z
da gil) |an Z=ili La gas
Jﬁd;&g;écwa\ﬁmieéju\ﬂ\ Jazll danld pdny )y m
(OBl e saaa Jalail gy @ sl g Haatedd) LD 2y Lo st & gl ya
a0
Aadiiall dlall c¥olzall w
el ey Hhalaall (adls 8 eadll m
(omll s pea g8 Laa a5 m
Aadail) 4y pad) o) sall llas Adin 5 adly o slad Aagll ia AlSda of e
rea N (S8 G Al gl Cajliaddl Jala
A8 padl cilillaidly o 5N
clol e cpealial) dlldas 5




‘ Notes:

= Credit institutions use the standard method, the average

risk weight is 35%.

= Credit institutions use the A-IRB method, the average
risk weight is 15%.

That's a difference of 20 percentages point!
= Why such a big differencer

s The A-IRB risk weight is 15% 1s calculated based on
the risk of bank's actual customers.

= The standard method 35% is a global one. Size. Fits. all
risk weight not based on bank's actual customers.
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